Name

preCalculus
Solving and Proving with Trig Practice

Solve the following trigonometric equations.

3sin?x —sinx—2=10 2. tanxcos’x —tanx =0

4 cot?@+cotd =0, 0°<8@<360°

_cosf(tand —V3)=0, 0=<6<2m

I

6.2cosx—V3cosx=0, 0s8<2m

5.COS3X‘—"\£—§, 0<8<2n

7.4sin2(29—g):4, 0<6<2m s.tan(x+§)=1, 0<6<2m

9 7tanx = 2v3 +tanx, 0°<8 <360° 10. 3(sinf + 2) = 3 —sinf

Simplify the following tri gonometric expressions.
sin? x+tan? x+2 tan x—4+cos’ x

tanx
. a . -
11. cscxtanx 12 o : 13 3tanZx-3tanx

(sinx+cos x)(sin x—cos x)+1

4
I sinfx
Prove the trig identity.
secx+1 _  tanx
tanx  secx—1
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